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Success Criteria

Aim

• Statement 1 Lorem ipsum dolor sit amet, consectetur adipiscing elit.

• Statement 2
• Sub statement

Success Criteria

Aim
• To use inverse relationships to solve missing number problems.

• I can choose the correct operation to use when I’m finding 
the inverse.

• I can find a missing number in a calculation by using the 
inverse operation.

• I can check my work using practical equipment or by drawing models.



12 + 5 =

15 – 4 = 11

14 – 5 = 9

4 + 12 = 17 

12 + 5 = 17

4 + 12 = 16 

18 How did you 
know which 

operation to use?

How did you 
know which order 

to put the 
numbers in the 

calculation?

Remember It
Use the inverse operation to check these calculations are correct.



18
12 6

What do you notice?

12 + 6 = 18 18 - 6 = 12

If I subtract the 
amount I added, 

I get back to where 
I started.

and    are inverses.+ -

Ingrid Inverses



20
13 7

What do you notice?

20 - 7 = 13 13 + 7 = 20

If I add the amount I 
subtracted, I get back 

to where I started.

and    are inverses.+ -

Ingrid Inverses



We can find gaps in 
number sentences 
using inverses too!

Mind the Gap

We can check our 
work using the 

inverse, for example:

8 + 11 = 19 

19 - 11 = 8

can be 
checked with

? + 6 = 18

can be solved with

18 – 6 = ?



I don’t know what I started with 
but I took away 7 and I 

am left with 5.

So if I add them back together, I 
can find out how many I had 

to begin with.

? - 7 = 512+
These look tricky but 
if we use an inverse, 

they are easy!

Mind the Gap



19 – 8 = 11

10 – 6 = 4

Oh no! Ben’s work is covered in mud! Can you help him work out the 
missing numbers using the inverse? Click on the mud splats 

to reveal the numbers.

6 + 4 = 10

11 + 8 = 19

15 + 3 = 18

8 + 12 = 20

17 – 10 = 7

14 – 7 = 7

18 – 3 = 15

20 – 12 = 8

7 + 10 = 17

7 + 7 = 14

Mud Splats



Ali wants to use the inverse to find a missing number in this calculation:

? + 15 = 19

The inverse of addition is 
subtraction so I'll work out 

15 – 19.

Making Sense

Does this make sense? Do you agree? Explain why.



Making Sense
Now, Ali is trying to find another missing number.

I know addition is the 
inverse of subtraction so 

I'll work out 

12 + 7.

Does this make sense? What is Ali doing wrong?

Making Sense

12 - ? = 7



Making Sense

Explain to your partner…

How to decide where the 
numbers go in the calculation.

How to choose which operation to 
use when working out the inverse.



? + 11 = 19

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

8 + 11 = 19
8

Check with your fact families!

Does 11 + 8 = 19?

Does 19 – 11 = 8?

Does 19 – 8 = 11?

19

11 8

Check with equipment.

There are other ways you can check your answer makes sense.

You can use a bar model.You can use a number line.

Making Sense



Use the inverse to find the missing number.

Then, check using one of these methods:

12 + ? = 20

20
12 ?

Making Sense

10 13 17 20 2511 12 14 15 16 18 19 21 22 23 24



A Muddy Mess



Dive in by completing your own activity!

Diving into Mastery



Oh no! This time, Ben has got caught in the rain!

Can you use your knowledge of inverses to work out 
the missing numbers?

15

8 7

2 6 1

The two numbers below add together to make the number above them.

Can you fill in the gaps?

Can you explain how you found the missing numbers?

Click a rain 
splash to 
reveal the 
numbers.

Pyramids

6



Pyramids
How about this one?

Click on the rain splashes to reveal the numbers. 

16

11 5

7 4

5 23

4 1

1212



Success Criteria

Aim

• Statement 1 Lorem ipsum dolor sit amet, consectetur adipiscing elit.

• Statement 2
• Sub statement

Success Criteria

Aim
• To use inverse relationships to solve missing number problems.

• I can choose the correct operation to use when I’m finding 
the inverse.

• I can find a missing number in a calculation by using the 
inverse operation.

• I can check my work using practical equipment or by drawing models.
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